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	Practice
Use a number line to subtract these 
2-digit numbers:

26 - 17 = 9

24 - 15 = 9

31 - 23 = 8

44 - 26 = 18

62 - 39 = 23

 
	Practice
Use a number line to subtract these 
2-digit numbers:

25 - 19 = 6

56 - 37 = 19

74 - 26 = 48

98 - 39 = 59

107 - 48 = 59

151 - 56 = 95




	Reasoning
Explain your answers. 
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2a.43-25=18
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4b. Jill has incorrectly exchanged 1 ten for
9 ones so she is 1 one short. Her answer
should be 16, not 15.
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4a. Aaron has correctly exchanged one
ten for ten ones but he has incorrectly
counted the remaining ones. The answer
should be 46, not 47.




image3.png
2b. 66 -39 =27
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